Answer of even number problems

Chapter 1

6. Domain of g(x) is[-2, 2]
Range of g(x) is [0,4]

8. Domain of F(t) is (—o0,00)
Range of F(t) is [2,4]

12.

Chapter 2
6. The limit is —oo
10. The limitis —1

12. The limitis ——
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26. The domain of g(x) is (—oo,—3] U [3, )
Since Vx2 —9 is continuous and x2 — 2 # 0 in this set, the quotient function
is continuous on its domain.

Chapter 3
2. x=—4  discontinuous.
x=-1 cluster point
Xx=2 The function tends to infinite
x=05 The tangent line is vertical
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(c) 2.24 <x<3.36

88. The limitis — ?



